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Nole s A 0. C and D to each fguastion are given The choca which you
: Pa Ly r. ihant eiicle in fronl of 1hat question with Marker of Pan ink in tha answear-bock
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The mass of one nmlu.uh* ol waler s e JLF¥ J'- -':" — &'; 11
18 kg (D) t& mg (C) 8 (B} 18 amu 4
' e
A good example of homogeneous mixiure is = J* G S g |2
lce cream A/ 1 Woad ¢4~ (C) Rock @iz (B) Scil ¢ (A)
| The sotope C-12 is present in abundance of o A& § G273
‘ -+ 897.6% (D) A1 99.7% (C) A 966% (B) «£0989%
‘E'EE of sodium atam is te P FL ¥ R4
186 Pm 185 Pm (C) 162 Pm (B) 180 Pm (A)
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Chigrina atom has electrons in the valance shll fe D O 405 0 = A1 g2 |5
7 2 (C) 2 {B) 1 (A)
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Sedium chioride has meling point about : e b 251 B K 2L 310

1300 °C () 80i °C 113 °C (B} 450°C (a)

Vapour pressure of water in mm Hg al 297°C s e btr L mmHg Zg sk

143.4 (D) 55.3 (C) 17.5

The equation of Boyle's law is :
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Heterogeneous miﬂure IS :
Sugar solulion e { g

Ink FL- (B) Milk =222 (A)

In the redox reaction betw ﬁ%@&pf -'.’.' 2 ._.;3-:;_5, I_F.,_, L HC o 5|10
the Dmdmng agen
nr\ “ ot (C) H* Jicdtug | Zinc i (A)
D.‘#.ldail m\E]er of hydragen in HCI s = ~ AT gLl = HON
2 (D) 0 (C) 1 (B) +1 |
Electronegalivity of fluorine is = "-‘_ '-"-'-’:* -""J‘ ,:f .,;,_'._*-: 12
4.0 | 3.2 (C) 3.0 (B) 2.7 (A)
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